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BA—49—030mm AERFH20F FAKE1.200m° (248%) DBE
XiREt, KEHEFDHEKRII2HAICTETY, SAEHICIEITKEFRAHEZEAEEA,

[FEzEALEVEAOKERS (2HhA%) DFHEHI]
® 1HhAOERAKEEHELET, 1,200m*+ 2 5 §=600m°.~ B
@ @O TKROEKETKEHEZHELET,
BEAHE 3,740 H+Ont =4 170,100 =173, 840 M
@ @ TRDIKEHEEZ2HANICELET, 173,840 A x 2 1 B =347, 680 M
KEHEDERE (2HHS) 347,680 H

[FSE£ERALE-BEOKERSE (2HA%) OFEH]

@ 1HBOERAKEZHELET, 1,200m%+ 2 A B =600m° B
@ OTROEKETIFLLYDFERKEZHELET. 600m>+20 F=30m*/F

@ QTRDEKETIFULYDKEHESETFELET . (KEA-4-0F13- 20mOHEEER)
OEAHE 990 H+OREEH £ 4,590 F=5,580 . F

@ QTRHI-IFHLYDKEHREICFHENTT. 2ARDKEREZHELFET,

5,580 1 x20 F=111,600 M
@ @TROHFKEHEF2HARICELET . 111,600 [ x 2 51 § =223, 200 M
KEHSDERE (2HH458) 223,200 H
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© 13mm 990 %1 & |1 msn\»:\@m%f@ﬁ 56| |@RERDKEAX—F —OR25mMU EESHR
20mm $E2B  [10m*EB220m°ETOS 162M
25mm 2,530 $3E  |20mPE#BZ30m E TN 241 HF1E @ 195 X 20mM = 3,900 M
@l 30mm 3.740m|| ;ggﬂ B4E  [30mPEBREOMPETOS 267m| H2E @ 241 X 10 = 2410 A
Z0mm 56000 58  |50mPEB2100m*ETON 2g3m| /3B @ 267 X 20mM = 5,340 A
50mm 10780/ WOR_|100m*EBA500m ETOS osgm| H4B @ 283 X 50n = 14150
75mm 25080M| —#A H7E  |500m*EEZ 30 2o1m| $5B @ 288 X 400nmM = 115200 A
100mm 45,430 1R |[1meHB20mPETos 195/ FO6E @ 29j X 100 mM = 29,100 H
150mm | 101,310/ B2 |20mPEBRB0meETOD 241M & &t 170,100 M
J— %35% SOmzéﬁ%t—)Omaf?ﬂ)/ﬁ 2674
B4R _|50m BHiA100m F 0D 2298 lomemokiEx—5—0@13 - 20mESHR
150mmEBZ BEDIE. #58  |100m°&B2500m°E Ths 288M
NEEEEPEN $E6EE  [500mPEBZ 3D 2918 w1 @ 56 X 10mM = 560 @
BIEDS 13mm BB [1mN510m*ETOR 568 ol @ 162 X 10m = 1,620 M
RRBIBA 20mm #5288  |[1om®&i8239 95| =m3Em @ 241 X 10mM = 2410 A
25mmBlE [1mPh'5 958 5 &t 4,590 A




